Goniometria. Archi notevoli

a (radianti) a® (gradi) sina cos a tga cotga
0 0° 0 1 0 non esiste
b _
= 15° v6-+2 Vo +v2 2-V3 2+V3
12 4 4
l 18° \/g_l V10+2\/§ 5—2\/§
10 - 5+ 2v5
4 4 5
T _ /
5 22°30° 2-V2 2+42 VZ-1 VZ+1
2 2
T
- 30° 1 ﬁ E V3
6 2 2 3
m o 10 — 2v5 VE+1 5+ 2v5
S 36 V5 5-2V5 V5
4 4 5
T 45° E E 1 1
4 2 2
3m 540 V5 +1 V10 — 25 5 +2v5
°n Vo 5—2V5
10 4 4 5
i1
T 60° V3 1 Ne V3
3 2 2 3
3 . Jo—
?“ 67° 30° 2+V2 2-\2 V2 +1 V2 -1
2 2
2m 720 V10 +2v5 V5-1 5-2V5
= R 5+ 2V5
5 4 4 5
5 _
5 750 V6 +v2 V6 —v2 243 23
12 4 4
T
5 90° 1 0 non esiste 0
180° 0 -1 0 non esiste
3; 270° -1 0 non esiste 0
21 360° 0 1 0 non esiste
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